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* M X+ Y 10 + 3 = 13
] 2 X—y 10-3=7
i K X*y 10 * 3 = 30
F RabRA )
/ (%8 float() EEY) X/y 10/3 =3.333
7 HYBR 2 X%y 10%3 =1
- BRI o e
(X B9y RJ5 = X Xy 10** 3 =1000
=EPRE _
/! (838 ME F int() EHY) x /1y 10//3 =3
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x=input () x=int (input()) 1B A% 14 [Python_5_1]$ python3 -d main.py | te
y=input () I y=int (input())

Traceback (most recent call last):
X—X79 i

File "main.pv". line 3. in <module>
N X=X+5
y=y X ‘'ypeError: must be str, not int
7=X%Y # ¥ 1 [Python_5_11$ |}
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x=int(input() - 18 ABIE 885 28
y=float(input() - 18 AR E K 885 2858
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print(10 / 2) I
FRARIA
print(10 / 3) ¥
print(10 // 2) e
HBRIA
print(10 // 3)
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ERESF
+= X+=Y
= X-=Yy
* — X ¥ y
/= x/=y
%= X %=y
%k — X *¥¥= y
/= x//=y




